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Yotal Time for Paper 1: 80 minutes
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3. Follow all instructions carefutly.

4. Answer all quostions.
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*’"""oea‘ri}markeam Questions 11 o 15 canry 2 marks each.
ach ¢ on, four options are given. Orie of them is the correct answer.
Makeyourdm&ceandshadeyouramrﬁ 2, 30;4)ontheOptlcalAnswerSheet

1. Which digit in 9678 s in the tenths place?

(1 6
@ 7
@ 8
@ 9

2. Simplify9c+8—c—2

(1) 8c+4
@ . 8c—4
@ 10c+8
@ 10c-8

3. In 2014, the estimated number of cars in Singapore was 1 248 B07.
Round off this number to the nearest thousand.

() 1200000
(2) 1249000
(3) 1250000

4 1300000
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Express1—2% as a decimal.

() 132
@ 115
@ 13
@ 12

@ 6im
¢ 10km
@ 121m



Clara has 10% mose stickers than Hugo. What is the ratio of the numbei
Hugo's stickers to the number of Clara's stickers?

(1) 9:10

2 10:89
3y 10 : 11
4y 11 : 10

Jamie attended a concert at 7.40 p.m. The concert lasted 2 h 20 min.
Atwhat time (in 24-h clock)-did the concert end?.

(1) 1000
) 1100
(3) 2100
4) 2200

 Janet spent 30% of her pocket money and still had $14 left.
How imuch did she spend?

(ty $6

@ $2
U3 s10

@ $20



10.

11.

12.

Ann and Benny shared the total costofa gift. Ann paid % of the cost plus
another $10. Benny paid $25. How much did the gift cost?

o s

) s25
(@) 335
4) %50

60% of a class were boys and the rest were glrls. All the boys and 26% of the
girls fike to play soccer. What percentage of the class iike to play soccer?

(1) 10%
) 15%
@ 70%
(4) 85%

The ratio of Ken’s age to Sam's age this yoaris 6 : 5. Ken is 3 years older
than Sam. What was Sam’s age last year?

(h 14 yearsold
@ 15yearsokd
@) 17 yoars oid
.4 18yearsold



13.

14,

16.

Gerald reads 120 pages of a book.in 4 days. If he always reads 6 more pages

“than the previous day,find the number of Pages he reads on the first day.
(1 21
@ 24
@ 30

@. 36

The average mass of 3 girls, Angel, Belinda and Chenry is 42 kg. Angel is 3 kg
lighterthqn Belinda. The total mass of Angle and Belinda is the same as the
mass of Cherry. What is the mass.of Angel?

H 27 kg
(V4] 30kg
(3) 33 kg
4) 41 kg

Daphne spent % of her money to buy 15 similar books.

She wanted to buy another 10 such books but found that she was short of
$30. What was the price of one such book?

0 $6
2 $2
@ 8
@ $to



stions 18 5025eany 1 mark each. Wite your answers in the spaces provided.
For questions which require units give your anéwers in the units stated. [10 marks]

Do not write in
16.  Find the value of 20 + % | this space

Give your answer in mixed number in the simplest form.

Ans

17.  Find the value of 7 + ':1’% whena =3,

Give your answer as a mixed number in the simplest form.

18, 'Theﬂgu're below is not drawn to scale. AD and BC are straight lines.
Find the sum of engles a, b, c and d.

Subotat i3




19. Caleb cycled 12 km to a patk in 2 hours.and then retumed home
by the same route in half the time. What was his average speed for the

Ans: _ km/

20. The solid below was dipped into a can of grey paint. It was then cut into
cubes along the lines as shown. How many cubes had exactly 3 of the
faces painted grey?

Do not wiite
In this space

21. Mrs Raja has -;—;: kg of flour. She repacks thent into packets of % kg each]
How many such packets does she get?

/3




22.  Amy's transport allowance lsdecreasedfrom$150to$120
Whatisﬁlepementagedeaease in her transport allowance?

Ans:

%

23.

is the ratio of the number of graen balls to the number of red balis
in the basket? (Give your answer in the simplest form.)

Ans

In a basket of 60 balls, 36 are red balls and the rest aré green. What

24.

Write the mixed number represented by the latter A in'its simplest form.

Do not write in
this space

25.  Paper plates are only sold in packs of 10. Each pack is sold at $1.80.

- Mrstiee ,hasl $19. How many paper plates can she buy at most?

Ans:

14




26.

21.

The figure below is not drawn to scale. Line XY is 28 cm and it passes
through the centre of all three circles. Find the perimeter of the figure.

(Take n 2—2—_72—)

&

A rectangular slip of paper measuring 15 cm by 4 cm is folded at
one end as shown in the figure below. Find the fotal area of the
shaded parts.

Da not wiite
in this space

Subtotal

14




28. At a class party, each pupil was allowed fo i_mng either 1 or 2 family
members. If the ratio of the-number of pupils to-the number of family

members was 4 : 7, whatfraehonofme{jf‘;jfj brought 2 family members?

. Ar_‘\s:

29.  The diagram below is not drawn to scale. AC and BD are straight lines.

ZFEC is half of ZBEC. /FEC is 65°. What s ZCED?

Ans: ¢

30. If the radius of a circle is doubfed what is the percentage increase
in its area?

- END OF PAPER

Do not write in
this space

10 ubftotal

{18
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13 Structured / Long Answer Questions (50 aﬁark‘s)
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1. Write your name and index number in the space provided.
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4. Answer all questions and show your workings clearly.
- 8, You are allowed to use a calculator.
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1. Find the area of the semi-drde with diameter 14 cm as shown in ﬁ“m‘;ts‘;‘a‘{;

the diagram below. (Take = 373)

v

A

14 cm

2. A soccer team played 10 games, It lost 2n gaimes,
- What fraction of the games did the soccertéam win?
Express the answer in terms of n.

3. . A cubical water tank has a base area of 36 cm®. .
What is the volume of water in the tank when it is full?

| Subtotal 16




Do not write

inthis space
Ans:

The diagram below is not drawn to scale. it is made up of 2 triangles,

A and B, The area of Triangle A is 3 times the area of Triangle B.

What is the area of Triangle A?

3cm
- . .
10 cm
Subtotal 14




7.

The radius of a bicycle wheal is- 35 cm. How many revolutions does
it need to make to cover a distance of 880 cm? (Take 7 = 37%)

Ans:

There were some men and women at a concert. 24 women left and as a
result, the percentage of men at the concert increased from 50% to 70%.

How many people were at the concert at first?

(3]

_[8]

Subtotal

16




t
i ]
’ (o
Ans:




9. Sarmaspent % of her money on 6 mangoes-and 8 apples.

if apple cost % as muchasa mango hewmany apples could

" Sara buy with the rest of her money?

Ans: BB




angstaxied __cﬁngfrmnthesame e in

131

Do not write
in this space




de-up of 2 Identical dirdes with centres 0-and Q.
lo-14 cm. Find the area of the shaded part.

Do not wiite
in this space




12. Annhadsomemdandbh:eballoonsmﬁleraﬁo7 2. Shegaveaway Do not write
T in this space

Ans: U




13.

$2800. A shop sold itata
ged a 7% GST on the

(@ how misch was the GST? .
(b)  how much was the computer, inclusive of GST?

D not write

In this space




10

Ans (a)
®) _

2]

2]

. Do not write
in this space




15. Cm‘saﬂdDylamanmaraeearounda&ﬂmtadccmmnata Do not write
| : that was 35 mifi _ in this space

Ans: Ml

11



186. The'-ﬁgurebeiow not drawn-to.scale, iamadeu;wfasquareanda

ﬁaa}vofﬁte{ectangie The .‘

theunshadedpanofmesquare ‘*4 R ths sida of the

shaded part is 48 c?, find the length of the squafe

Bl

Do notwite
in this space

12




13

B

in this space




18. Three boxes A, B and C contained a total of 986 red and 866 green Do not write
inthis s
marbles. 100 red and 28 green marbles were transferred from Box B s pace

to Box A. Ao her 176 red and 38 green marbles were then transferred

frmnBoxBﬁ:BoxC.Asaresxﬂt,si)%ofaﬂﬂwemablesm Box A and
Bowaerered,wlileGS%ofﬂtemﬂeSMBowaeremd.

How many red marbles were these in Box B at first?

Ans:___ B

End of Paper2
- Remember to check your work.

14






NAN HUA PRIMARY SCHOOL
SA12015

PRIMARY 6 MATHEMATICS
PAPER 1

12  2)1 3)2 44  5)2
7’3 84  9)1 1004 11)3
13)1  14)2  15)1

16) 33/1/3.

17) 71112

18) 2X180-40-40 = 280"

19) (12X2)/(2+1) = 24/3 = 8 km/h

20)8

21) 11/12+1/6 =5 R 1
Ans : 5 packets

22) 30/150x100% = 20%

C23)2:3

24) (8+8/1/2)+2 = 8/1/4

- 25)$19+$1.80= 10R 10
10x10 = 100

6) 3

A1



26) 22/7x28 = 88 cm
27) 15x4-4x4 = 44 sq cm
28) Assume all pupils brought 1 member
1x4 =4
- 7-4=3
2-1=1
3+1=3
Ans: 3/4
29) 180-65x2 = 180-130 = 50°

30) TTX2rX2r-TrXrXr = 3XTTXrXr
(3xrrxrxriexrxr)x100% = 300%

Paper 2
1) 1/2x22[7x7x7 = 77 sq cm
2) (10-2n)/10

3)V36=6
6Xx6x6 = 216 cubic cm

4) 63+9x16 = 112
5) 1/2x3x10x3 = 45 sq cm

6) 2x22/7x35 = 220 cm
880+220 = 4 revolutions



7)

70% -- 50%

30% -- 30/70x50%.=-21/3/7%
S50%-211317% = 28/417%

281417% - 24

100% - 100+28/4/7x24 = 84 people at first

8)AB:BC :CD
3 : 2
5:2

15:10:4
4u - 12cm
15u -- 15+4x12 =45 cm

NN

4%%
C;m?g":L
(20a.)
12m = 1a
6m = 12a
- 12a+8a=20a.
4u — 20 apples
- Ou - 5/4x20 = 25 apples

10) 20x1/4 = 5 km
7+1/4 = 28 km



11) Area of minor segment = 1/4x3.14x14x14-1/2x14x14
' = 55.86 sq cm’
Area of shaded region = 3.14x14x14-55.86x2 =
503.72 sqcm |

-
12) & N
gla & 20

gy —>

(20+1(5)

.

5u - 35
9u -- 9/5x35 = 63 balloons at first

13a) 2800+10x80 = $2240
2240+100x7 = $156.80
b) 2240+100x107 = $2396.80

14a) 285+19 = 15 sq cm
15x4+285 = 345 mi

15) 185+35 = 14 min
© 14x(185-35) = 2100 m
2100-800=2R5 - -
Ans : 2 completed rounds

16) 3u+48x3 = 3u+144
3u+144 = 4u |
1u = 144
V144 = 12 cm



() . (sw) (Tv)

é—é«dulﬂ,::';::;‘ gg(—émis}

17)

8x3+5x5+7x6 = 91
1638+91 = 18
18x12 = 216 children

18) 65-35 = 30
986-866 = 120
30u - 120
65u -- 65/30x120 = 260
260+176+100 = 536 red marbles in box B at first






